1.  Anticipatory socialization means
(a) Socialization for unknown roles (b) Socialization for future roles
(c) Socialization for definite roles (d) Socialization for occupational roles

2. Who divided to role in this three types — Basic Role, General Role and Independent Role ?
(@) S.F.Nadel (b) R.Linton (c) J.H. Fichter (d) M. Banton

3. The concept of ‘I and Me’ with development of “Self” was used by
(@) S. Frued (b) C.H. Cooley (c) H.M.Johnson (d) G.H.Mead

4.  Who classifies society into ‘militant” and ‘industrial’ ?

(a) Darwin (b) Weber (c) Morton (d) Spencer
5.  Who gave the concept of “Little Community” ?

(a) McKim Marriot (b)  Surjit Sinha

(c) M.N. Srinivas (d) Robert Redfield
6.  The ascribed status depends on

(a) on socio-cultural values (b) on ability

(c) on Income (d) All of these

7.  Which sociologist is related to following statement :
“We belong to associations and not to Institutions.”
(a) Maclver and Page (b) Fairchild
(c) M. Ginsberg (d) Ogburn and Neimkoff

8. What is smallest units of culture ?
(a) Culture traits (b) Value (c) Norms (d) Customs

9.  Who among the following sociologists has used the terms Ideational and sensate to explain
social and cultural change ?

(a) R.M. Maclver (b) A.W. Green (¢) V. Pareto (d) P.A. Sorokin
10. An audience, passengers on a bus and a gathering of people watching football match are

(a) Associational group (b) Aggregate

(c) Social group (d) None of these

11.  Which of the followings are the characteristics of a primary group ?
1. Strong identity
ii.  Unspecialized character of the association
iii.  Competition
iv.  Rational relationship
Select the correct answer from the codes given below :
(@) iandii (b) iandiv (¢) i, iiiandiv (d) 1, 1iandiii

12. Who gave the theory of ‘Looking Glass Self” ?
(a) KarlMarx (b) Cooley (c) Mead (d) Freud
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1. YEWTE TSRt o1 37 B
(a)  3TSITA fHeR1at o foTQ THTSheRToT (b) et -SyfirepTati o foTu wmTSiiehtor
(c) Tfo=a yifiremiati o fol ATSiishtor  (d)  SATIHTRI RIS o ToTT TSR
2. vifEreRt B, gRITGT yifient, ST fHeRT T8 S YHehT 39 dIF SehR H fepa ferford femar ¢
(a) TAUH. A48 (b) 3. fetveq (c) “.u=. fher (d) TH. g=A
3. “aneR” o fasm d “H 3R g’ <t STLwon 1 Y= R o
(a) TH.WEE  (b) HI.TE. Ho (c) T FA=ed  (d) Sh.u=. die
4. Torm T @t “faferee’ 3t ‘sienfies’ o afiera fepen @ 2
(a) eifeH (b) @ (c) W (d) =/
5. “fafea segfel” i sraumen fereq & off ?
(a) AfEmdfee (b)) oA = () . Afem () T Thies

6. Y& wfeuf aaTid 8

(a) | HREhideh el T (b) AW
() IFAW (d) TBEH R
7. hIF 91 GHSINTE] 39 U9 ¥ gaiud 8 T “gn afufoet o gee gid @ 9 fos g3t s’ 2
(a) HHERTI IS (b) AT
(c) TH. ==l (d) AfmEH 37k frie
8.  HEH(d hl Hed DI FHE FME 7
(a) TERA-TT (b) A (c) ame ) et

9. f=ifeRd H & forq THSRITEA 4 “WiaTcHeh 3R “IqTcH” Tal o1 T ATHTISh —HRh(d
Tiad shl et o fou fepam 8 2

(a) SAR.UH. HehTgeR (b) T.Is, UH

(¢ .9 d) u. Eifn
10.  STTOT, SF I AU GesTel 39 W @ A ol WE 8

(a) TEAMMEgE (b) HI=E (c) WHIVHEHE (d) T E T
11.  feiferd & smerfies g i ik o feivamd & 2

(i) |k TEaH (i) dTEaT o Jifanrdiea It

(iii) wfcreget (iv) dTfche TEawe

=t e TTU e © | HET IR BT = T

() ()W (i) (b) (i)W (iv) () (i), (i) T (iv) (d) (i), (ii) W (i)
12.  “IAenedur =1 fagra frae wa fepam 2
(a) HATEE  (b) FKoA (c) s d) S
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13.

14.

15.

16.

17.

18.

19.

20.

21.

Match List — I with List — II and choose the correct answer from the codes given below :

List—1I List — 11
A. Racial theory 1. Nesfield
B.  Occupation theory ii.  Risely
C. Religious theory iii.  Hutton
D.  Theory of primitive culture iv.  Hocart

Codes :
A B C D

(@) i il iv i

(b) i iv il i

(¢) i 1 iv il

(d i i il v

Who among the following has classified status in terms of salient status, dominant status

and controlling status ?

(@) T.Parsons (b) R.Bierstedt (c) K. Davis (d) R.K.Merton

Who has explained socialization on the basis of “Genesis” and “Telesis™ ?
(a) F.H. Giddings (b) L.F. Ward (c) C.H. Cooley (d) H.Mead

Who argued that those at the top of the institutional hierarchy largely monopolise
authority/power ?

(a) C.W.Mills (b) FloydHunter (c¢) R.A.Dahl (d) T.B. Bottomore

Who said ‘assimilation is not necessarily limited to the incorporation of one social group
with all its ideals and cultures into another group’ ?

(@) G.E.Smith (b) Lewis Coser (c) George Simmel (d) R.Park

Who is of the opinion that ‘contact’ and ‘communication’ are two main conditions of
social interaction ?

(a) Park and Burgess (b) Ogburn and Nimkoff
(c) Maclver and Page (d) Gillin and Gillin

Which of the following is not a type of associative process ?
(a) Adjustment (b) Assimilation (c) Competition (d) Co-operation

Who defined social mobility in term of horizontal and vertical social mobility ?
(a) Miller (b) Bogardus (c) P.Sorokin (d) Horton and Hunt

“So much of competition is aimed at achieved status, however that the two terms are
practically synonymous.” Who said it ?

(a) Fairchild (b) Bogardus (¢) Sutherland (d) A.W. Green
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13. -1 FEAI-11 9 GAferd Shifse au1 = fedl T e | T& I 1 T4 HINT :

-l -1
A, o fagr i,  JEdies
B. SgredETies g ii. fo
C. s fagma iii. g

D. 3fen Fl@fﬁl =1 g iv. B
%< :
A B C D
(a) 1 m - iv i
(b) 11 v i i
(c) iii 1 v i
(d 1 i m - iv

14. Tifera # @ form wfeafa w1 somyg wfeafd, sl sfedfa it fremeed sfedta o &9 °

affera fepam @ 7

(a) A.IREE (b)) FR TEE  (¢) & ™ (d) IIR.F. T
15.  Topa wosfisseor i feremmn Sfafam’ (aemgra) qen fafaa’ (qafawor) & smar @i g ?

(a) Uk, fifgm (b) TA.TH. 918

(c) ®iu=. g d) U= HE

16. Topom oo feam fop S oI EReimTa Sawor < 3N W Bid B, TfRrehmeid: an/wifed W Uit
wdg ?
(a) 1.5y, el (b) TS BX (c) 3IR.U. & (d) A FeERr

17. TorEH 71 T HIGHHT STeRH T Y Th AHISH T GRI G 998 & HHE TGN Ua
TR ol FHTTE H T Ha T2 2 7
(a) 3Ty (b)) f@FIR (c) S fame (d) IR U
18. foruept a2 fob “Trgeh’ 3R T wTiores STa:fFn A T g wd 8 7
(a) ek TR & (b) 3ThTeH ug fmehis
(c) HehTgeR Td U (d) fifem sin fifem
19. = o @ o geari-ufsra o1 Tk TR = 8 ?
(a) TETESH (b) TTcHIHT (c) SfcRnfirar (d) FEI
20.  graTRoTes Tfasfieran w6 Sfdst qeun 3eu amfores nfasfierar 3 fere aftfya fran @ 2
(a) foew (b) T (c) W.EWIFRT (4 ERATIER
21, “31fid ug W 3at wfaeayt wfira Bt 2 foh 1 visg wm: SR w9 @ e € 17 T8
[ETERANETIRIC I
(a) HIEEeE  (b) SNTEH (c) WeTAvg (d) Uy, A
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22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

Who has given the functional theory of stratification ?

(@) Tumin and Weber (b) Giddens A.

(c) K. Davis and W.E. Moore (d) Karl Marx

Who explains social stratification on the basis of class, status and party ?

(a) Parsons (b) Veblen (c) Weber (d) Marx
The main cause of Acculturation is

(a) Cultural contact (b) Transmission of culture

(c) Both (a) and (b) (d) None of these

Process means

(a) change + continuity (b) change + direction

(c) change + fixed direction (d) change + economic growth

Who described four forms of Social Stratification — Slavery, Estate, Caste and Social
Class ?

(a) Parsons (b) Johnson (¢) Smelser (d) Bottommore
Who brought out the concept of ‘Global Village’ ?

(a) Milton Singer (b) Haber Mass

(c) Marshall McLuhan (d) Yogendra Singh

Social mobility in the caste system through the process of Sanskritization is

(a) only a cultural change (b) only a structural change

(c) only a positional change (d) positional and structural change
Which of the following set of thinkers belongs to the category of conflict theorists ?
(a) Marx, Ratzenhofer, Dahrendorf (b) Marx, Simmel, Parsons

(c) Marx, Dahrendorf, Sorokin (d) None of these

Among the following condition which is conclusive to assimilation ?
(a) Intimate social relations

(b) Toleration

(c) Advance means of transport and communication

(d) All of these

Match List — I with List — II and select the correct answer by using codes given below the list :

List — 1 List — 11
A.  Michael Young 1. Social mobility in Britain
B.  David Glass ii.  The Affluence worker in the
class structure
C. H.Braverman iii.  The Rise of Meritocracy
D.  Gold Thrope Lockwood Bechhofer and iv. Labour and Monopoly Capital
Platt
Codes :

A B C D
(@ iv i i iii
(b)y i il iv i




22. IR T TehRITcHeh g foha Ta fhan & 7

(a) A TH T (b) Frfesww.

(c) . Sh@uassy 3. W (d) Tet AT
23. i HTAT TRt <t samedt o, Tfef 3K et o STUR WeRar 8 ?

(a) UREH (b) IS (c) aW (d) W=
24, T-HEHIE 1 TG FRT 3

(a) HTEHIah T¥Ih (b) HEHId T FEATAT

(c) €M (a) AT (b) (d) TTH IS TRl
25. kAt o1 31 B

(a) R + et (b) ufterdH + feam

(c) ufadd + fafeaa feam (d) ierdH + e g
26. TS ETAORT0T o IR T&Y €rE TUT, STRTR, STl qT EaTheres o sh fereremT frem shi 8 2

(a) UREH (b) A (c) T (d) WTImER
27.  “Tegaum’ i staumon e 3feafaa & oft

(a) freafam (b)) zwHTE (c) AN fRET (d) ag g
28. TS H HER{TRTUT Shl FsHT o HIEAH § T Ti=ierdl 8

(a) hacl T HTEh(deh qHEdH (b)  <hael Teh ELEHTHS T

(c) haet Ueh feufa # itads (d) Teufa va Tt itads
29, freferfga o @ 9 o1 foeh-aqg “ded fagrasri” w18 ?

(a) W, I/HEIHL, SEHSTH (b) we, fome, TrE

(c) TIHE, SEHSTh, HRIfhT (d) 38T BE T
30. F=fefiaa o @ = =t ufifeafs gredieo & fore geres gdi 2 2

(a) SATCHT AR &y (b) FEIRMear

(c) UGS Td 9N & Id e (d) Tgad
31, -1 ! g-11 & gufera Hifse qen giewi o f= i 7 wie 6 ggrar @ 98 3T s ===

Hifse

-1 -1

A. TIEHd A i, g gifsterd g9 fsea

B. cfaswm™ i, U] Tt §H FoTH TR

C. TH. g fii. ¢SS 317 ANCIshe

D. TicE UMY AT IhaM aq e iv. oo T0g HHMIE hiuee

EE(::

A B C D
(@ iv i i i

by i il iv i
() ii iii iv i
d iii i iv i
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32.

33.

34.

3S.

36.

37.

38.

39.

40.

41.

42.

43.

Who made extensive explanation of regional features of Kinship in India ?
(a) D.N. Dhanagre (b) LP. Desai
(c) Irawati Karve (d) A.M. Shah

Who among the following sociologists studies the family in the West, Arabic, Islam,
Sub-Saharan Africa, India, China and Japan ?

(a) W.J.Goode (b) M.N. Srinivas (¢) Max Weber (d) K.M. Kapadia

“Marriage is rooted in the family rather than the family in marriage.” Who said ?
(a) Gillin and Gillin (b) Westermark

(c) Bogardus (d) Hoebel

Who is the author of the book ‘Khas Family Law’ ?

(a) D.N. Majumdar (b) L.D. Joshi

(c) B.D.Pandey (d) LP. Desai

The formal institution which controls and regulates law and order in a definite territory is
known as

(a) Political institution (b) Economic institution
(c) Religions institution (d)  Educational institution

Which one of the following is not an economic institution ?
(a) Property (b) Money and Credit
(c) Division of labour (d) Government

Who among the following has contributed a lot about Kinship system in India ?

(a) Morgon (b) Irawati Karve (c) LP. Desai (d) S.C.Dube
Extended family means :

(a) Joint family (b) Composite family

(c) Conjugal family (d) Nuclear family

Who believes that “Monogamy is, has been and will remain the only true type of marriage.” ?
(a) Morgan (b) B.Malinowsky (c) Westermark (d) Manu

The bond of marriage or blood which binds people together in group is called ?
(a) Primary group(b) Kinship (¢) Secondary group (d) Community

Who stressed the importance of the empirical observation of kinship behaviour ?
(a) G.P. Murdock (b) L.H. Morgan (c) A.M. Shah (d) M.N. Srinivas

Who gave the concept of ‘Debureaucratization’ ?
(a) Max Weber (b) H.J. Laski (c) R.Bendix (d) S.N. Eisenstadt

Who visualized Jajmani system as a ‘Redistributive System’ ?
(a) K.Polanyi (b) W.H. Wiser (c) C.J. Fuller (d) Peter Mayer




32. forem wRG O e Shi St foivanati 1 e e H g 7
(a) ST EW (b)) AEH.GEE  (c) FUE HE (d) TuH. TR

33, farifera Tomerenfern ® o forae ufvaw, e, S&am, 99 -TgrT 3ThiehT, Wi, =i 3R S
% TR w1 e fohaT g 7
(a) T®L LTS (b) TA.TA. SMifam (c) Heas (d) <h.UH. FHuTSAT

34, “forame 1 3™ ufEr d 2 7 T gier =1 foag 4" a8 fra et e 7
(a) Tiifer wa firfem (b) TEHTH
(c) dwnmE| (d) glee
35. “TH Hikcl AT YT & G D & ?
(a) EL.UA. ASEER (b) UL Sieft (c) #dumwgm () IR ERE

36. 3G TEAT, S ST TR TG Sl Teh Hivaq &= # Faha 3R i ot 2, &1 e
ST &
(a) USIAfdes TEAT (b)  IATRIh T (c) enfier Tw (d) et g

37. T=fafea 8 @ oF v anfdfs geen i g 2

(a) Tmfa (b) TAINTAW™  (c) M faumH (d) TR
38. fymferfiaa 6 @ forem wita ® et sqaee o &9 | g Ire fhan g ?

(a) WA (b)  SUEl e (c) IEd.cEE (d) wEH. @
39. fowga uf@r s 312 @

(a) TIHUER (b) FEHB@URER  (c) dafesuf@R  (d) g TRER

40. I HEAT 2 fop “Th foame 2, W18 3T W@, e Ueh Tgl foramg w1 TR ?

(a) W|WEH (b) . AfHEER  (c) TEE d) ¥4
41, foaTe o1 TF 1 HE9 S AR Sl GYE § Th TSI &, HEATdl 8
(a) wfEEgE  (b) ATde (c) sfewage  (d) HYH

42. TTAERI-SIIER ® IHATcH TR0 o T W oo 5iet fean g 7
(a) S weld (b)) TAWE. AOA  (¢) U.UH. IR (d) T Afem

43. ‘el 73 fomgehiehtor (festishergsta) 6t sraumon frea € & 7
(a) BeE AT (b) WA AR (¢) JAN. S\ (d) THE.TH. MBS

44, SISTH LT I AT T o T H foha wicud fohan 2 7
(a) . 9@Hs  (b) Tg, I AGH (c) HLH. HeR (d) HT TR
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45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

Match List — I with List — II and select the correct answer by using the codes given below
the list :

List—1 List — IT
(Sociologist) Place of Study of Families)
A. A.D.Ross 1. Navasari
B. LP. Desai ii.  Bangalore
C. K.M. Kapadia iii.  Delhi
D. M.S. Gore iv.  Mahua
Codes :

A B C D
(a) i i i v
(b) i v i il
(c) 1iv 1 i il
(d) i iv il i
In which book Durkheim has written “The Theory of Origin of Religion” ?
(a) Sociology of Religion
(b) Elementary forms of Religions life
(c) Magic, Science, Religion and other Essays
(d) None of these

According to Murdock, how many relatives come under the category of “Tertiary Kinship” ?

(a 99 (b) 33 (c) 125 (d) 151
Who considers “sex communism’ as the cause of the origin of family ?

(a) Henry Maine (b) Bachofen (c) Westermark (d) Morgon
Who among the following has discussed “Trusteeship family” ?

(a) Carl C. Zimmerman (b) G.P. Murdock

(c) J.R.Leslie (d) M.K. Gandhi

How many types of family have been given by .P. Desai ?

(a) Three (b) Four (c) Five (d) Six

The concept of “Isolated Nuclear Family” was given by

(a) Eugene Litwak (b) Colin Bell

(c) T. Parsons (d) LP. Desai

‘A History of Marriage and Family’ book is written by

(a) Westermark (b) K.M. Kapadia

(c)  W. Goodshell (d) P.H. Prabhu

Which of the following set of thinkers is related to linear theory of social change ?
(a) Comte, Pareto, Marx (b) Comte, Sorokin, Marx

(c) Pareto, Sorokin, Toynbee (d) Comte, Spencer, Marx

Who accepted adaptation, goal attainment, integration and latency as four functional

pre-requisites for social system ?

(a) Max Weber (b) T. Parsons (c) R.K. Merton (d) None of these
Who wrote the book “The Sociological Tradition (1967)” ?
(a) Max Weber (b) R.A. Nisbet (c) S.C.Dube (d) Louis Dumont




45. F-1 1 T - 11 & FHlcTd i qem Fia=i < 1< e T i 61 Tg™d § &1 3 1 <=4
I -

-1 -1
GEISNIEZIR)) (IS o AL T TIH)
A. TE.I™ i T
B. B R i, TR
C. h.UH. HUMSA il feeefl
D. TH.TH. TR iv. g3
A B C D
(@ 1 il i v
(b) i iv i i

(c) iv i i iii
) iii v i i

46. @ 3 1ot forw gfeaent § “o ot Scafa 1 fagra” wfaafea fepan 2 7
(a) G 3 Refts (b)  TTH B T Tefiforre s

(c) B, orew, M we IS (d) 70 J IS T
47. HEieh o AFHR feha Faeh “qefizres Arderd” <61 9ot # 31 8 2

(@ 99 (b) 33 (c) 125 d) 151
48. “AT-grIaTe” ol TR 6l I 1 R hiH GHdT 8 7

(a) THEA (b) SIH (c) dIEHH (d) wFH
49. fr=afafga # @ fra o ofem ==t Hi g ¢

(a) Tl . s (b) St WEiw

(c) SI.3AR. oiEett (d) A, meh
50. 37E.91. eHTE % g fohdd TehR o qRER sqmi T B ?

(a) A (b) =R (c) = (d) o8

51. “Ushlfraeh—ATIehIT TRER” eht STEERoT o T&dian &

(a) I feieds (b)) HifeH 5@ (c) & urREm (d) .. <ETs
52. ‘U faEht ariw Aftet e Hivel’ qEden % o §

(a) ST (b) H.UH. HUMSAT (c) T TedA  (d) W.ua. 9y
53. Trforfiaa o @ form ferameent <1 T, ek aftardH o Wi faga & afa g 2

(a) IR, T, HTHH (b) I, TRIfR, AT

(c) I, HicAlfer, Tra-et (d) IR, T=ET, AT

54. 3R, ALV, ThHIHU T G- (FuIfedfd) S dmise Sawe &l =)
TehTITcHeh o STEITAhaTd & 34 fohe TR fham g 7
(a) BeE AT (b) . IRE" (c) AN, WA (d) T A HE &I
55.  “g EIfeETATSThet 2fevM (1967)” e J&deh foheeh grI A= 2 7
(a) B\ AT (b) SRE FEE () wHH. (d) <ETIm
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56.

57.

58.

59.

60.

61.

62.

63.

64.

6S.

66.

Which of the following pair of scholars in the field of sociology used the concept of
“Anomie” ?

(a) Merton and Comte (b) Marx and Weber

(c) Durkheim and Merton (d) All of these

Who has undertaken detailed theoretical analysis of “Reference group behaviour” ?
(a) R.K. Merton and P.V. Young (b) C.H. Cooley and H.H. Hyman
(c) P.V. Young and C.H. Cooley (d) H.H. Hyman and R.K. Merton
How many types of “Social Action” has been described by Max Weber ?

(a) 4 (b)y 6 (c) 8 (d 10

Who said that, “The suicide is the result of the negative pressure of the society” ?
(a) Sigmund Freud (b) Maclver and Page

(c) Emile Durkheim (d) Talcott Parsons

The term ‘Marginal Man’ was first used by
(a) S.C.Dube (b) Robert Park (c) F.G. Bailey (d) Y. Singh

Which of the following statements signifies the meaning of Reference group ?
(a) A group that works for social reform.

(b) A group in conflict with the other group.

(c) A group that pressurizes the other groups.

(d) A group that imitates the manners and style of the other group.

The credit of developing the concept theory of social system logically and defining it in the
correct perspective, goes to

(a) Talcott Parsons (b) R.M. Maclver

(c) Pareto (d) Spencer

The type of suicide that increases during the economic crisis is

(a) Anomic suicide (b) Egoistic suicide

(c)  Altruistic suicide (d) Professional suicide

Who wrote the book “The protestant ethic and the spirit of capitalism” ?
(a) Max Weber (b) Spencer (c) Karl Marx (d) V. Pareto

According to Durkheim social facts have two characteristics : Exteriority and
Fill in the blanks with correct option :
(a) Internality  (b) Dynamism (c) Coercion (d) Morality

According to Parsons, how many functional requisites are there ?

(a) 04 (b) 03 (c) 02 (d) 08

Which concept is not used by Durkheim ?

(a) Egoism (b)  Altruism (c) Anomie (d) Alienation

Who is the author of the book ‘Theory of Social and Economic Organization ?
(a) August Comte(b) Spencer (c) Durkheim (d) Max Weber




56. EHTSIA o & H “Framgiar” shi staamon s frefaRad fagmi < fra gm 3 s fean g 2
(a) TATAHE (b) TR AAGTR  (c) GEHAMTA (d) IHF a4t

57. “Hev Tg agR” &1 foqa SgTi~eh fargeryo fera weqa fepan ® ¢

(a) 3T, He4 aom A&, = (b) #1.TH. %ol TS TH.UE. BIgHA

(c) .. I Ug HL.TE. Ho (d) T=.Ud. BigHA a1 3R, T
58. o JaX A “TrIeh AT % Pt fehd TR T Sooi@ foha & 2

(a) 4 b) 6 @ 8 @ 10

59. Toru w1 8 T “3TTcHgcT, THTS o FehRIcHeh cold ol Tabhad & 7

(a) FmUE®EE (b)) FFRRTEIT () FEAGEH  (d) Tefohre TREH
60. ‘HHTd-sAfad’ ITeg T HAYYH FNT fekat T

(a) TEHEL.GE (b) U U (c) TH.SA. aef (d) =% fag
61. frerifera @ @ ®H |1 HoF Tey Tg T LAY HLaT 8 ?

(a) U HE ST AT YL AT & |

(b) T HYE I GHL E HN AT 2 |

(c) T I ST GO THE T GETd STefell & |

(d) T THE S GER THE o AR-aLeh] SR Sa3Iet o STHehTT L & |

62. TS AT 6l TaerT /g ol difches 9 & foepfid o 3T 30 9l gfgew o
aReTird s 1 2 fearm ST 2

(a) TITHEUREE (b) AR.TH. BHZHR () W3l (d) T
63. 3Tk -Tehe o THY FGd! ITTHET o TehR i had &

(a) AT HATHEAT (b) ITEHATE JTCHERT

(c) RIS TR (d) STEEIRRR ST
64. ‘T IICEE U WUE g fOIfie 31 hitefers®’ Areh q&eh foe forgft 8 7

(a) B AT (b) T (c) ohTct AT (d) ot we
65. gEA % AT wrHTioreh et & ferdward Bt ¥ : rerdr qen |

T w2 o1 Wit forehew & o |

(a) @GRl (b) TIETg (c) STEIan (d) fcemar
66. UTTEE h AR feheH1 Jehredes qamaad & ?

(a) 04 (b) 03 () 02 (d) 08

67. gET A fopq TGO 1 TR T fRAT R ?

(a) 3EATE (b)  TRITIHT (c) SMEIYEA  (d) AT
68. ‘T 3T HINTCT WU ShMITHh STHISHIH J&Ieh o i@ i & 7

(a) AT S (b) TR (c) gEMm (d) TF I
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69.

70.

71.

72.

73.

74.

75.

76.

Which one of the following concepts is not correctly matched with its proponents ?

Concepts Proponent
(a) Leisure class — Veblen
(b) Anticipatory socialization — Merton
(c) Sacred and Profone — Parsons
(d) Dialectical materialism —  Marx

Who gave the concepts of ‘Class in itself” and ‘Class for itself” ?
(a) Max Weber (b) Coser (c) Karl Marx (d) Dahrendorf

Who divided ‘authority’ into three categories — Legal, Traditional and Charismatic ?
(@) R.K.Merton (b) Max Weber (c) Emile Durkheim (d) Parsons

Who used the phrase ‘Historical Materialism” ?
(a) K. Marx (b) F. Engles (¢) G. Hegel (d) L. Sorokin

Match List — I with List — II and select the correct answer by using the codes given below
the list :

List—1 List — 11
A. Social system 1. Integration
B.  Cultural system ii.  Goal attainment

C. Personality system  iii. Adaptation
D. Biological system iv.  Latency
Codes :
A B C D
(a) 1 v i il
(b) i i i v
(c) iii i i v
(d i i v il
Which of the following are essential postulates in functional analysis according to Merton ?
(i)  Functional unity of society
(i1)) Universal functionalism
(ii1) Integration
(iv) Indispensability
Select the correct answer using the codes given below :

(a) ()and (i) (b) (i)and(iv) ) (), (i) and (iv) (d) (), (i) and iii)

Which type of social solidarity exists in simple societies ?
(a) Social solidarity (b) Organic solidarity
(c) Mechanical solidarity (d) Technical solidarity

Whose name is associated with the concept of ‘Ideal Type’ ?
(a) KarlMarx (b) Max Weber (c) V. Pareto (d) Herbert Spencer

Who advocated the use of ‘Middle Range Theory’ ?
(@) T.Parsons (b) StephenCole (c¢) R.K.Merton (d) H. Spencer




69. freifena o forer STaEToT 1 356 JUIAT o T TE GHAH T B 7

ST ot
(a) oo o — I&d
(b)  ARTITE ToTfiehtor — WA
(c) Ul wa 3fes — UREd

(d) ggTeh HifehaTg — g
70. ‘S @ W qUT o W & foTe’ Y STaurona bl e yeqa fhan g v

(a) B I (b) R (c) ohlct AT (d) SEHSIh
71. BT 1 AYT, TEIIRTT A HRATE, 3 o1 Jfvrn o foham favfsa feram o 2
(a) IRFH.WH (b) TG AW (c) 3R gE™ (d) UREH

72. Ufceriees Wifaerare’ smeRm w1 T=mT fopga femam e 7
(a) . OIS (b) TH. WieH (c) it & (d) TS, AR
73.  F-1 01 -1 < A1 GHTCTd i T Fiaai < 1< Te2l 731 IS shi Tgr=dt § dal 3 6
WW:
-1 qI-11

A.  GHEIH SFaEdT i e

B. WGl Fa€dl . @&d Wi
C. Ao e iii. 3o

D. Siferes sewen iv. aE-fEE
EE{ :

A B C D
(@ i iv i iii
(by ii i i v
(c) iii i i v

@ i i iv il
74, ehmITcaeh feetyur § 7 % AR Feifed § ¥ B ¥ 31aves YR @ § 7
() TS i ThETcH Tshl (i) HrEWifie Thriae
(iii) TR (iv) iR

= e T e @ HEl ST T =TI B

(@ @(TAGE) (b)) (1) T (iv) (©) (@), )T Gv) () (), (i) T (iii)
75. O3 99T TRy TR <kl GTHTReTeh Tehdl IRt STt @ ?

(a) TTHTIS Tehdl (b) WIS Tehal
(c)  ATreh Tehal (d)  ehritieh Tehal
76. ‘3T IS <hY STTLRN B fhaeht T ST 8 ?
(a) HEAAEE (b)) HeEAR (c) T (d) T TH

77.  Topaa ‘we- st faga’ o w1 TwedA e o ?
(2 d.IEEH (b)) HERIHA (c) AR, TeH (d) TI.EE
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78.

79.

80.

81.

82.

83.

84.

8S.

86.

87.

88.

89.

From which book did Merton got the source of concept of Reference Group ?
(a) American Soldier (b) Continuities in Social Research
(c) Sociology of Science (d) Reader in Bureaucracy

Who use the concept of ‘Verstehen’ to understand the meaning of social action ?
(a) Max Weber (b) V. Pareto (c) K.Marx (d) Hegel

Who is the author of the book ‘Archaeology of Knowledge : Knowledge and Subject’ ?
(a) Richart Gott (b) George Ritzer (c¢) Michael Foucault(d) J. Derrida

Who is proponent of ‘Structuration theory’ among the following ?
(a) Michael Foucault (b) Anthony Giddens
(c) Derrida (d) Jurgen Habermas

Who among the following represents a significant source of inspiration for
ethnomethodology ?

(a) H. Garfinkel (b) R. Turner (c) E. Goffman (d) K. Denzin
Who among the following accepted the communication and language as basis of analysis ?
(a) Habermas (b)  Althusser (c) Gramsi (d) Foucault
Who among the following is the author of the work “The Dimension of Value” ?

(a) Radha Kamal Mukherjee (b) Ravindranath Mukherjee

(c) Shymanath Mukherjee (d) Radha Kumud Mukherjee
“Feeding The Baniya, 1996 is a unique work of

(a) Lowis Dumont (b) David Hardiman

(¢) G.S. Ghurye (d) A.R. Desai

Which one of the following is not associated with Frankfort school of Sociology ?
(a) T.B. Bottomore (b) E.W. Burgess

(c) J. Hebermass (d) Alaine Touraine

Which of following are considered to be essential characteristics of modernity of
Hebermass ?
Select the correct answer from the given code below :

1.  Democracy 2. Capitalism

3. Public sphere 4.  Rationality

(@) land2 (by 1,2and4 (¢c) 2,3and4 (d) All of these
Who from among the following sociologists is concerned with “Post-Modernity Theory” ?
(a) Jean Francies Lyotard (b) Jacques Derrida

(c) Michael Foucault (d) All of these

Who gave the theory of ‘Deconstruction’ ?
(a) Lyotard (b) Foucault (c) Derrida (d) Peter Berger

Who is the author of the book, “Phenomenology and the crisis of the Western Philosophy” ?
(a) Peter Berger (b) Edmund Hussrel (¢) Goffman (d) None of these

‘Writing and Difference’ book is written by
(a) Leve Strauss (b) J. Derrida (c) Alexander (d) Goffman




78. Tohd Ik © W ! TeH THE <hi STTYRTN I |Id T 53T o7 7

(a) IR Alee] (b) B 3 T f=
(c) @RS 317 9™ (d) etz e

79.  GTETTSToh—TohaT o1 31 T o ToTU fopEm ‘aRea=’ bl STTEROT <7 T foham o 7
(a) B AT (b) . T (c) . T (d) @

80. ‘3TThctlail 3T ATeTs : TicTsl TS Heslde [&ieh oh TITIAT hiF & ?
(@ fERTe (b)) R (c) WERAFH  (d) . TiE
81. fo=iferd § @ 1 ‘ST g’ o1 T&ATIeH 3 7

(a) fREgEH (b)) Teffem (o) 3Ra (d) SUH gSATE
82. forifena o & foper anfar formm o forw weeargot Sreom st <61 wiferfress fopan 2

(a) T TGt (b) AN TN (c) 3. TI®AA (d) . SARH
83. atfiysafch 3 vy sl foet o @ fopmm forgoiwor s aem & foran 2 7

(a) EoAE (b) TSR (c) it (d) I
84. T H YD “T SHHRM ATh dcgs” Hh hid oh TRIAT & ?

(a) TETHASA gESff (b) Uz st

(c) TAHMIY gESit (d) ETHHE FES

85. “whifen fa s 19967 319 Hfd &

(a) o8 SgA (b) sfaszfEmm (c) Sh.wd. g (d) TR, ¢HE
86. Tforfiaa o & i TTSSIEA o Shehthd TRt ¥ HEfYd I8 & ?

(a) AT FREER (b) I TE  (c) . FEHE (d) T
87. fehar 1 fforfaa faswarat & & i =t faewarsti =1 S9tmE 3 Savas Jarmn 8 ?

= fe T e S TETIAT | TR ST B =TI B

1. S 2. dsflEre 3. dESHHYEA 4. dlfehehdl

(a 1Ta2 (b) 1,274 () 2,3Wd4 (d) T@=IW
88. Trmferiga e 4 ®F “Iw-snyfeal faga” @ grafema g 2

(a) S9 HITeH oIIeTE (b) S gl

(c) HIghel Blehice (d) wEad
89. ‘fo@vea’ 1 fargra fepem e femam o

(a) TS (b) ! (c) e (d) TR
90. “FBAIAATCTS VS ¢ ShTSTT 31T § S hetTaThl” Jieh o oi@h i & ?

(@) WX (b)) TEHSEWA  (c) TMHAT (d) THIABETE
91. ‘Tfem e femw’ e foreft wht 2

(@) dfiEg@E (b)) F.oRa ORRSEEE (d) AT
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92. J. Alexander has stated the major drawbacks of functionalism

(a) Opposition of Individualism (b) Conservatism and Idealism

(c) Both (a) and (b) (d) None of these
93. In which year Harold Garfinkel coined the term ‘Ethnomethodology’ ?

(a) 1965 (b) 1970 (c) 1975 (d) 1967
94. Who wrote the book ‘The Care of the Self” ?

(a) Mead (b) Foucault (c) Cooley (d) Darrida

95. Who among the following functionalists is proponent of “Neo-Functionalism” ?
(a) Peter Berger (b) J.C. Alexander (c) Ulrich Beck (d) R.K. Merton

96. Match List — I with List — II and choose the correct answer from the codes given below :

List -1 List — I1

A.  Alfred Shutz 1. The modern social conflict
B. Herbert Blumer ii.  The phenomenology of social ward
C. Dahrendorf iii.  For Marx
D. Louis Althusser  iv.  Symbolic interactionism : Perspectives and Method
Codes :

A B C D
(a) 1 i i iv

(b)) i v 1 i
(¢) i i v i
(d) ii i i v
97. Who among the following attempted ‘micro integrative conflict theory’ ?
(a) KarlMarx (b) Coser (c) Collins (d) Dahrendorf

98. Which of the following phenomenologist has used the terms ‘Life World’,
‘Intersubjectivity’ and ‘natural attitudes’ ?
(a) Weber (b) Mead (¢) Schutz (d) Luckmann

99. Who has remarked “Modern society is a runaway society” ?
(a) George Ritzer (b) Peter Hamilton (c¢) Anthony Giddens (d) Weber

100. Which method of data collection can not be used among illiterate ?
(a) Questionnaire (b) Participant observation
(c) Non-participant observation (d) Interview

101. What are the general goals of social research ?
(a) Understanding (b)  Prediction
(c) Control (d) All of these

102. When researcher systematically select some units from universe as per his own desire the
sampling is called
(a) Purposive sampling (b) Stratified sampling
(c) Quota sampling (d) Random sampling




92, . Teldal=g 3 TehRITE hl Y@ =T &dT8 &

(a) =AfRTETE 1 fotyr (b) Efedre T 3T

(c) Gl (a) T (b) (d) & @B T
93. TUeE TRIk-=<hel + fohE I o1l Ugfeemres’ sreg o1 SR foham o

(a) 1965 (b) 1970 (c) 1975 (d) 1967
94. ‘G HI AT ¢ Feth T J&deh feha foret 8 7

(a) e (b) R () F (@) sf

95, fATfera TehriaTfeal § © hiH Ta-JehRIaTe 1 Yddeh & 7
(a) TR (b) .. THEIUST () IANH S (d) AR, WA

96. F=-1 ! - 11 | YHTerd shiforg T = g T e & &l I 1 =I5 T -
-1 -1
A. TUGHS I i. T HIEA 919d Hhaae
B. e &N ii. ¢ RISt 3176 grre 98
C. <SB8HT% i, R TR
D. TREIEER  iv. Faeaiicre seiEmi-sn Tefded we fyg
%< :
A B C D
(@ i i il v
(b) i iv i i
(c) iii i iv i

(d i i i v
97. frmfeiRad o & ferae ‘qgm Tufena oy frgra’ Wr fRa g 7
(a) HEHEE (b)) BN (c) it (d) SEHSTH

98. T o 9§ ford eI A Sfted W1 g, ‘At BT 3 Wehide A S
T fepa g
(a) 9 (b) e (€) (d) HAA

99. Tohe o8 et o1 T “3Myfes TuTe U Wi THI B 7
(a) SSfEst  (b) e dfiee (c) TAHifem  (d) IW

100. A-THeher o foha Tarfer o1 s Srforfera St wgera & 71 feman s @ehaT 8 7

(a) AT (b) TEYTT et
(c) A-TgUWH A (d) HIETEHR
101. AR -3THH & AT L7 TS 7
(a) TuH (b) wfersafi (c) T (d) 3ulred Tt
102. F9 STTHEAHHAT HIAT &1 H 7T TTHTHAR THY T T HS IHISAT 1 I AT 8 a9 38
ESICIE]

(a) eIyl s (b) weaRd fes (o)  wier fesa (d) <afreEm
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103.

104.

10S.

106.

107.

108.

109.

110.

111.

Arrange the steps of social research from the steps given below :
A. To formulate hypothesis

B. Identify and define research problem

C. Review of concept and theories

D. Conclusion and generalization

Codes :

(@ ABCD (b)) BACD (c0 B,C,AD (d D,B,CA

Who is the author of the book ‘Fields and Methods of Sociology’ ?

(a) Wals and Furkey (b) B. Walten

(c) R.Bierstedt (d) J.Bernard

Who among the following has stated that “objectivity is the willingness and ability to
examine evidence dispassionated” ?

(a) A.W.Green (b) A.Walfe (c) Goode & Hatt (d) P.V.Young
Who defined, “Fact as empirically verifiable observation” ?

(@) P.V.Young (b) GoodeandHatt (c) Earl Babbie (d) None of these

Which of the following is not a “Research Design” ?
(a) Experimental (b) Hypothetical (c) Descriptive (d) Exploratory

The type of sampling in which each unit of the whole is provided equal opportunity of
being selected, is called

(a) Purposive sampling (b) Random sampling

(c) Census (d) All of these

“Science begins the observation and must ultimately return to observation for its final
validation.” Whose statement is this ?

(a) C.A.Moser (b) P.V.Young
(c) J.Dollard (d) W.J. Goode and Hatt

Who said, “The unity of all sciences consists along in its method, not in its material” ?
(@) P.V.Young (b) KarlPearson (c) Goode and Hatt (d) Ackoff

Who said, “Hypothesis is a tentative justification, the validity of which remains to be
tested” ?

(a) G.A. Lundberg (b) P.V.Young
(c) Goode and Hatt (d) R.L. Ackoff




103. AR JHE o =0T ol Fefafad 8 & safem Hif
A.  SUheHAT 1 FHT
B. Y THET 1 =3 3T g
C. 3TAYRN Ud g 1 TIEaieh
D. fshy 3tk gm=fiem
%<
(@) ABCD
(b) BACD
(o BCAD
(d DBCA
104. “Hlogd TUE HSH AT HITcAs J&deh o oi@sh HiH & ?
(a) dETEHS (b) . diced () I EEE  (d) <. w1

105. fifera # & fore et 2 fo6 “arqfmar w1 aread foeft qe steran o <t frsqerargees st
U hl T AU ATAA B ?

(a) T AH (b)) TAH (c) TR TR (d) e =m
106. Term wftfya fera & fop “qea, 3w ywifoTd Staeiih 27 7

(@ W&LAT (b)) TETEE ORESELD (d) T H PIE T
107. fr=ferfaa & @ oF T “Siy-g=AT TE 8 ?

(a) UTOAUTEHS  (b) UNGheUHTcHSh  (¢)  dYTCHe (d) ST=NUITcH
108. ?ﬁ%%w,ﬁuﬁwaﬁwmﬁgﬁaﬁwwmm%mw%,aﬁ

(a) SeqifigEH (b) qF FeRiH (c) SO (d) s |t
109. “fos, 3Taetieh & TR BIaT 3 G Afd JTHTforhdr & oI 44 3raeiieh shi 371 eftedr 87
g fraem T & ?
(a) H.U AR (b) &t =
(c) . STE (d) TS TESTIER
110. “Tod fasi 6t ushan 35eh! ugla o ffed 7, fowa axq § 78, o8 wom fras 2 7
(a) WALFT (b)) e EER (c) TSTIRIC (d) UH®
111. Tore wan 2 o “Iuehed Teh 37w sqaeamda & foraeh! geadn st qdieqor foman Sim sfi 3w 2> 2
(a) U queat (b) . Tm (c) TEUd g (d) 3RS, Thih
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112. Match List — I with List — I and select the correct answer from the codes given below the lists :
List—1 List — 11

A. R.XK.Mukherjee i Methodology in Social Research

B. V.K.Srivastava  ii.  Research Methodology

C. P.N. Mukherjee  iii. Classification in social research
D. P.K.Bose iv.  Methodology and Fieldwork
Codes :

A B C D

(a) i iv i ii
(b)) 1 i iv il
(¢) i il i v
(d) iv i i

113. Which one of the following is not associated with Chicago school of Sociology ?

(a) T.B. Bottomore (b) H. Blumer

(c) G.H.Mead (d) E.W. Burgess
114. Which one of the following is not the characteristic of scientific method ?

(a) Generality (b) Objectivity (c) Certainity (d) Integrity
115. Which of the following is the source of Hypothesis ?

(a) General culture (b) Analogy

(c) Scientific theory (d) All of these
116. Which is most appropriate technique of compiling information from secondary data ?

(a) Questionnaire (b) Ethnography (¢) Case study (d) Schedule
117. Which research design is related to pre test-post-test control group design ?

(a) Exploratory Research Design (b) Descriptive Research Design

(c) Experimental Research Design (d) Evaluation Research Design

118. Which of the following are the characteristics of social phenomena ?
(i) Complexity (i) Universality (ii1) Intangibility (iv) Heterogeneity
Select the correct answer using the codes given below :
Codes :

(a) ()and(ii) (b) (ii)and(iv)  (c) (i), (iii)and (iv) (d) (i), (i) and (iii)

119. Which thinker has said that, “Interview is a process of fundamental social interaction” ?

(a) Palmer (b) Goode and Hatt (c) Lundberg (d) P.V.Young
120. What is the correct formula of median ?
L -L L,-L,
(a) N X M-0) (b) L, + F M-0)
L -L L,-L,
© Ly+—(f) @& —F—M-0)




112, F=-1 %1 F-11 & GHAA HIT T2 G o = {6l T S 6l garrar 8 T8 ST 1 ==
I -

-1 -1

A, 3. g@si i, AYSres 3 | e
B. @t sffleaa i, fed Ayt
C. W.uA. gEsit iii. AR 37 TwTe =
D. .. 94 iv. IS U $legash
%< :

A B C D
(@) iii iv i i
(b)y i i iv i
(¢) ii il i v
(d iv i il i

113. Frferfaa 3 & s gHTSTe & R -thet 8 Fefa T2 8 ?

(a) A& FEER (b) TH. TR (c) <=, HiE (d) 3.3, T

114. FATRa o € S 1 Teh AT TGl 6 formroar 7ai & ?

(a) AT (b) SReRar (c) Tveemeasar (d) WA
115. fr=fefga 4 @ s aiemer i m aa ¢
(a) W TSR (b) FEE (c) e g (d) 3Iwied @t

116. Tgeieres raft & T Hepford i <hl Halfeesh 3uge Sfafa e 8 7
(a) TS (b) i v (c) dafhesh e (d) I
117. = |1 NG -JTET g -egor, we=rd aderr fehia ag yey 8 gefid & 7

(a) 3TAYUTTcHSh SNE JTEYT (b)  UHTCH I TET
(c) SANTICHe INY JTET (d) TR Y Y&
118. Treifera o mmoTfores Trenati <t i =t faomamd & 7
() Sfeerar (i) ETdfEeRar (i) 3T (iv) Tosmefian
= e T e T HEl ST BT T R
%<

(a) (1) dqAT (i1) (b) (i11) AT (iv) (c) (), (u)dAr (iv) (d) (1), (i1) 9AT (ii1)
119. e fommes 3 a1 8 fo6 “TnetTehR, Hifets &9 & amiiore 31=d:fsham <t s ufshan 2”7 7

(a) UMW (b) TRUAER (c) qusht (d) . =m
120. TSNS T T TFA R ?
L1 B LZ L2 B L1
(a) N X M-0) (b) L, +T(M—C)
Ll B L2 L2 B Ll
© Lyt—x @) (d) - M-0)
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

Who said ‘from an algebraic stand point view the mean is superior either the median or
mode’ ?
(a) C.A.Moser (b) E.W.Burgess (c¢) GoodeandHatt (d) P.V.Young

In a small area is to be selected for study from a large geographical area, then which of the
following procedure will be used for this ?

(a) Lottery Technique (b) Card Technique

(c) Tippet Technique (d) Grid Technique

Who has said that, “Standard deviation is the square root of the arithmetic average of the
square of deviation measured from mean” ?
(a) C.A.Moser (b) G.A.Lundberg (c) P.V.Young (d) D.N. Elhance

“Social statistics is mathematics applied to human facts.” Who gave this statement ?
(a) Bogardus (b) Goode and Hatt (c¢) J. Smith (d) Sorokin

Who said that, “Statistics is the science of estimates and probabilities™ ?
(a) D.N. Elhance (b) M.M. Blair (c) Karl Pearson (d) A.L.Boddington

Which is considered to be the best measure of dispersion ?
(a) Mean deviation (b)  Quartile deviation
(c) Range (d) Standard deviation

Who said ‘participant observation is field work, however not all field work is participant
observation’ ?

(a) H.R.Bernard (b) S.Kvale (c) LC.Jarvie (d) E.W. Burgress
Which type of study is possible on the basis of newspaper informations ?

(a) Case study (b) Content analysis

(c) Projective analysis (d) None of these

By whom standard deviation method was first used ?
(a) Ronald Fisher (b) Karl Pearson
(c) D.N. Elhance (d) P.V.Young

Full form of SPSS is

(a) Statistical Package for Social Sciences
(b) Special Package for Social Sciences
(c) Statistical Program in Social Sciences
(d)  Systematic Program in Social Sciences

Who among the following first applied to his research the case study method ?
(a) Auguste Comte (b)  Durkheim
(c) Max Weber (d) Frederic Le Play

Computer use only the binary numbers in which all the numbers are represented by a
combination of two digits. What are the two digits of this combination ?
(@) landO (b) land2 (c) 2and3 (d 3and4




121. e gt T sfiemfira gfishio & mres, mifeysm M agash A 98 8 7
(a) WU HASK (b) ST SE  (c) TS TAERE (d) W& =

122. 3¢ T o2 WiMifeleh & H ¥ 315934 o 7T Ueh B1e &1 o1 AT AT & al $8h for fifera
T 9 fopm gfarfdr o1 3w fepan s 7
(a) oAU (b) 1S gty (c) Teoe ufafy (d) Trsufafy

123. TopoH waT1 2 Toh, “Oeh—foreret STeRTiTdi w1ed & | T fomreri o J1ed s v glar g’ ?

(a) WTHASK  (b) SHhu guest  (c) W wm (d) .U @R
124. “|mTRoeh AIfeTehl, THET a2 W AN g aTel T | |7 I8 S fohaeh gra feam ¢
(a) <WTIEH (b) TRUA B (c) <. fony (d) ERIfRT

125. Topaa wva1 8 T6, “difegehl, s1qam aun arnfaar &1 famm 2 17 2
(a) T TEEHE (b) THWH. &R (c) ohlot TUoREd (d) T.UA. fSTeA

126. E0 h1 Hed TSI A hIH AT 8 7

(a) 3gdfomem (b) =quiofeaem (o) fowr (d) W= faee

127. Trom a1 2 T “Tmmii-3raeiion &7 31 7, quniu oyt & 3teee, Jgumril Saeiieh T8l
27
(a) TA.3R. &S (b) TH. F&T (c) IRHF. S (d) I.T=Y TE
128. THME 1 G o IR W hH ThR T LA foha 1 wehar 8 7
(a) T A (b) e frery
(c) et forgermor (d) Y HIE T

129. Tt fofer o1 s wevem fermes grar fomam mam ot 7
(a) TS ThER  (b) ohIot A (c) S TaEFE  (d) drEl =

130. TH.9.TH.TH. 61 YU ITET 7
(a) WRfCHe b BRANMATEEST  (b) TS Uchal BR A1 HGHA
(c) TWiefewa Tum 7 Five arges (d) Treenfes T 3 Aiver arges

131. Te=aifera o & forea weuem 3199 s § Sarferden - 315999 Ugfd o1 3799 o7 7
(a) IMEHEE (b) GEH (c) W I (d) heie foa
132. TR hael JH TEIT 1 T AL &, e aeft g 6 genst w1 wfaffaa g 35kt &
TfreoT g0 BT B | 39 | % <) 3k 8 ?
(a 11WF0 (b) 1Wa?2 (c) 2Td3 (d) 34
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133.

134.

13S.

136.

137.

138.

139.

140.

141.

142.

143.

Which of the following is not a feature of case study ?

(a) Calculative study (b) Use of many sources

(c) Special unit of study (d) Intensive study of unit

Which of the following is a merit of “Case Study Method” ?

(a) Intensive and microscopic study (b) Complete knowledge about unit
(c) Widening personal experience (d) All of these

Which one of the following is not a quantitative method of social research ?

(a) Survey method (b) Case study

(c) Comparative method (d) Statistical analysis

Which of the following is not a personal document ?

(a) Public organisation’s report (b) Life history

(c) Letter (d) Diary

Which of the following is not related to the utility of content analysis ?

(a) Limited use (b) Helpful than communication

(c) Helpful in objective studies (d) Helpful in past social life
“Dispersion is the measure of the variation of the items.” Whose statement is this ?
(a) A.L. Bowley (b) Brookes and Dick

(c) L.R. Connor (d) P.V.Young

Chai-squire Test is applied for which purpose ?

(a) To test the relationship between two variables.

(b) To test the significance of difference between two variables.
(c) To test the nexus between two variables.

(d) To find out correlation between two variables.

Whose name is associated with “Subaltern Historiography” ?

(a)  Surjit Sinha (b) Ramchandra Guha

(c) N.K.Bose (d) Ranjit Guha

Who among the following has given the idea of “rural-urbanization” ?

(a) S.C.Dube (b) Radhakamal Mukherjee
(c) G.S. Ghurye (d) M.N. Srinivas

Who conducted the study of village namely ‘Shamirpet’ ?
(@) M.N. Srinivas (b) S.C. Dube (¢) G.S. Ghurye (d) McKim Marriot

Among following Indian sociologist, who has applied Marxist perspective in his study of
Indian social structure and its processes ?

(@) M.N. Srinivas (b) A.R. Desai (¢) Yogendra Singh (d) S.C. Dube

. Who wrote the book ‘Homo Hierarchicus” ?

(@) G.S. Ghurye (b) N.K.Bose (c) N.K. Datta (d) Louis Dumont




133. fr=fafiaa d @ F o) Jafhes srewee 6 fommar 121 2 2

(a) TIUMTCH JTEIIT (b) 3T HIdl T AT
(c) 31edA ! a9y gots (d)  IoRTS T T ST
134, TAifeRa o @ o1 s “Safdas A ugla” 1o ?
(a) T Ud Y&H A=A (b) TS T Hafd qul T
(c) AfadTd 3TIwa | ghg (d) Tgad
135. TrAifend o whie TSR @Y 6l Ueh TR Tgfd TEi 8 ?
(a) RO Tgld (b) SATHe HRA
(c) qoTeHsh Ughd (d) wifeahr foveryo
136. Fr=ferfaa # @ s saftrma go@ = 2 2
(a) HIES(eh AT < frard (b) Sfaa-sfagm@
(c) W (d) sEd
137. frferfiaa @ @ o e - faveryo 6t suaifiar @ gefuq =& 8 2
(a) Efea s (b) IR FIEAT I T § TERIH
(c) OB FTHI § TERIh (d)  YTehTCiE | Siad | Ham

138. “3Tufehur-uci o foae ST AT 87, I8 HUF fhEen1 8 7
(a) TUA S (b) 9 T fgh (c) TAAR. HR  (d) dat =m

139. HTE-THITR TieTor fhe 389 o fore fepan ST 8 2
(a) <Nl o e Hag TR 8 (b) < uieet o offe 3T 3 Hew o 0T &g
(c) o ufae & sfi= erma uderor 3 (d) o Rt % ue TgEey H THHRI B

140. ‘HaTeeH Sfagmere’ 8 fhas am Jer g 7

(a) TR (b) TER TR (c) Tl s (d)  Tofter g
141. T 4 9 ferea “amea et o1 fomm fean @ 2

(a) wEHL.g (b)) THUERAA HEST (c) S.UH. "@ (d) .. Afem

142. forma ‘srfiue’ Fraes g o1 A fhar g 7
(a) TA.EA. #fifam (b) TE.H. g (c) Sfi.ug. gia (d) wfem AfEe

143. F=fafga v samsenfern & 8 free aRde amiises S aun ol Ihhanst &
e % for Aredadl ufties = yged fran g 2
(a) AT, e (b) TR, T (c) Anrs Tz d) waH. @

144. “Erl feerlerere” Y fopes g foreft meft 2 7
(@) S g (b)) T o (c) THH. T (d) g
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145.

146.

147.

148.

149.

150.

151.

152.

There are two statements marked as Assertion (A) and Reason (R) :

Assertion (A) : The arrival of British in India in the mid of 18" century had at first no
impact on the spread of Christianity.

Reason (R):  Because East India company did not allow missionary activity.

Select the correct answer from the codes given below :

Codes :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(¢) (A)istrue and (R) is false.

(d) (A)is false and (R) is true.

Match List — I with List — II and select the correct answer by using the codes given below
the list :

List—1 List — 11
A. G.S. Ghurye 1. Indian villages
B. S.C.Dube ii.  India’s villages
C. D.P. Mukherjee iii. Caste and Race in India
D. M.N. Srinivas iv.  Modern Indian culture
Codes :

A B C D
(@) i i iv i
(b) iv i i i
(c) i it iv i
(d) iii i v il
Who advocated the use of reference group theory in explaining caste mobility and
dynamics ?
(a) K. Gough (b) L. Dumont (¢) Y.B.Damly (d) G.S. Ghurye

Which of the following is associated with the study of Peasant Movements in India ?

(@) A.R.Desai (b) K. Gough (c) D.N.Dhanagre (d) All ofthese
Which match is incorrect ?
(a) Indological perspective — G.S. Ghurye

(b)  Structural — Functional Perspective — S.C. Dube
(c) Marxian perspective Lowis Dumont
(d)  Subaltern Perspective — B.R. Ambedkar

Who amongst the following initially started systematic reviewing the development of
Sociology in India ?

(a) Andre Beteille (b) Ranjit Guha

(c) T.K.N. Unnithan (d)  Surjit Sinha

Who is the author of the book “Caste, Class and Power : changing pattern of stratification
in a Tanjore village” ?

(a) Yogendra Singh (b)  Surjit Sinha

(c) M.N. Srinivas (d) Andre Beteille

Who is the author of the book : “Images of Man : Ideology and Theory in Indian
Sociology” ?
(@) S.C.Dube (b) A.R.Desai (c) Yogendra Singh (d) Iravati Karve




145. 1= 31 YA Ted T 8 U i JMUH (A) T G 1 HRUT (R) HT TR :
ANRAT (A) : TSRS IATeL] o HEA H TR H TSI o IATTHA T $HTS & oh THR T YT

T 1S UTE T8I 9T |
T (R) : T S fean et 3 T wfafafert S srafa 72t & of |

il el TR e © WE) I BT = B

%<

() (A) IR R)THIFE 2 | (R), (A) F1 T A2 |

(b) (A) 3R (R) QHI &€ &, 7F=d (R), (A) 31 Tl =T 721 2 |
() (A)TEEIN(R) T2 |

(d) (A)TAd R IR R) TR |

146. F=-1 1 FAI-11 T GATeTd hifoTe au1 =i < e fe T e & &l I 1 T3 I -

- q=i-11
A, Shug. g i, sfea foomE
B. wa.Hl. ii. sfugarst foom

C. v gt iii. hIC WUS W 3 3fUSAT
D. WG MfifE®  iv.  AEd 3ftgad hewt

A B C D
() iii i iv i
) iv i i i
(c) ii i iv i
@ i i iv i
147. Torem Sfa-mcrsfierar qerm wfaeht <6t =2men o forw wwey wg fagr=a < SR o1 Tmei foam o 7
(a) . T% (b) THA. A (c) TR THA  (d) StEE. g

148. T=Tfehd H € S, WA H FH¥eh- TG o T & HafUd 8 ?

(a) THAN.CEE (b) . T% (c) SL.UA. e (d) Iof
149. A AT TH AT 8 ?
(a) WRa foameme gite - Sum. g
(b) ETEATHS TR e - THH. go
(c) HrerdaTd) afdied - g
(d) eforaard ufe - &t.3R. e
150. =1 9 9 fopme W o SIS o faeh <ht safea aefter I &t 7
(a) 3T ed (b) TS &I (c) IAFHTW.IAYA (d) Fia &
151. “He, FATH TS TSR : TR T 376 LBy 39 T a9k faeiet” Ammeh Jedeh & o
HEE ?

() AgRiE (b)) e (o) . dfEm (d) e

152. “SHSIS 3116 84 : Jmsfeianistt we AR 34 3fugem Tfyriersl” J&deh o oigsh ®H & 7
() TEH.GH (b)) TINE (o) dsfEE (d) S Tl
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153.

154.

158S.

156.

157.

158.

159.

160.

161.

162.

163.

164.

16S.

166.

Principles of social exchange includes
(a) Rationality principle (b)  Justice principle
(c) Both (a) and (b) (d) None of these

Which one of the following factor is responsible for the eradication of caste inequality in
India ?

(a) Marriage Restrictions (b) Illiteracy and conservatism

(c) Education (d) Sense of caste prestige

What is the percentage of reservation fixed for “Scheduled Tribes” in government services
of India ?
(a) 2.00 percent (b) 2.5 percent (c) 7.5 percent (d) 15 percent

When was National Minority Commission established ?
(a) 1990 (b) 1991 (c) 1992 (d) 1993

Who propounded the concept of the “Westoxicated Elites” ?
(a) D.N. Dhanagre(b) Dipankar Gupta (c¢) Satish Deshpande (d) T.K. Oommen

Among the following age categories which one is recognized as reproductive age category
of women ?
(a) 15-45 (b)y 18-49 (c) 15-49 (d 20-45

What is the basic objective of Mahatma Gandhi National Rural Employment Guarantee

Act 2005 (MNREGA) ?

(a) To provide upto 100 day of unskilled manual work in a financial year to every rural
household.

(b) To ensure gender parity

(c) To ensure social inclusion

(d) All of these

Which of the following is not a characteristic of rural society ?

(a) Depend upon nature of living (b) Importance of secondary relations
(c) Simple living (d) Lack of social mobility

In which year Immoral Traffic Prevention Act was passed ?

(a) 1956 (b) 1926 (c) 1976 (d) 2006
Kaka Kalelkar Commission was established in the year

(a) 1956 (b) 1949 (c) 1948 (d) 1953

In which year ICSSR (Indian Council of Social Science Research) was set up by the Govt.
of India ?

(a) 1959 (b) 1969 (c) 1971 (d) 1979
Who studies ‘Devi Movement’ among the tribal of Gujarat ?

(a) David Hardiman (b) Ranjit Guha

(c) Ramchandra Guha (d) B.B.Kling

According to Indian census of 2011, how much percentage of Indian population is in
habits in villages ?
(a) 80.8% (b) 75.8% (c) 68.8% (d) 62.8%

Communalism is

(a) Blind adherence and ardour to one’s language.

(b) A sense of loyality towards the whole society.

(c) Patriotism

(d) An over-zealous sense of belonging to one’s caste and religion.




153. gmires fafma o fem 8

(a) Tyl fagra (b) = fag
(c) €M (a) AT (b) (d) T HE

154. T=faiRad & @ &1 o1 SR RA H ST - STHHHAT & I 1 BRI & 7
(a) ToamEeEm (b) Tremar g wfgare
(c) fram (d) Sfa-gfesT i vremT

155. 9RA ® “ITggied SHoTiadt” o et Fenati o fehaa wfewra smemo fuff@ @ ¢
(a) 2.009fqw@  (b) 2.5 Ufasm@ (c) 7.5 gfawa (d) 15 gfasma

156. TET UHEIH AN 1 T3 el 53T AT ?

(a) 1990 (b) 1991 (c) 1992 (d) 1993
157. “gfyaH} faumhdr (Westoxication) 3118<H" st 3raramon fere gfaquifea K1 g 7

(a) ST AW (b) AR IET (c) ST <A d) A&,
158. frferfaa smy-foe § & S afgeneti Hl IS g T h TUH TR ?

(a) 15-45 (b) 18-49 (c) 15-49 (d) 20-45
159. wereHT e T T TSR TR SRR 2005 (HAGTT) i 3T 3w 1R 7

(a) U forch o & yeren Tmefior gf@m 61 100 fe b o1 3rspwrer g1 & fohan ST arrett v

3TsY AT |
(b)  <ifiTeh THMAT FiHfTad T |
(c) HHIRNh THTEYH GHfTad T |

(d) FTE|Hl|
160. T=Tfend ¥ & o1 Imfior TuTet <hi fammar wgi & 7
(a) STEATIE Jehfd W ¥R (b) geftereh FELT sl TEraT
(c) T Sred (d) @R Tfasfietdr s T9TE
161. 3Ffaes MR e sifefrem forg a i@ gaman ¢
(a) 1956 (b) 1926 (c) 1976 (d) 2006
162. hTehT FHIcTcTeht STRITT h! TTHT g3 ot
(a) 1956 (b) 1949 (c) 1948 (d) 1953
163. YA TR gRT 37841, TH. TH.3TR. (AT |rartoreh fosm s1aa™ aftwg) &1 7ed foh ad
fepam T 7
(a) 1959 (b) 1969 (c) 1971 (d) 1979
164. TSATG Sl ST § ‘Tt SATgIeM’ 3T 3199 ke fepa 7
(a) sSfeafélm (b)) T (c) THE=S & (d) st feem
165. AR STHTOHT 99 2011 o STTHR YA SHERGT 1 Hol fohaa1 Sl it # famd sar g 2
(a) 80.8% (b)  75.8% (c) 68.8% d) 62.8%
166. ATEIETRhT 3 —
(a)  ST9 9T o i Stefavara (b) FHY 9 o fd 7 st wremn
(c) <umfad (d) 31U ST TE Ud g o i fer &t wrea
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167.

168.

169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

What is the main purpose of Panchayati Raj ?

(a) To increase agricultural production.

(b) To create employment.

(c) To make people politically conscious.

(d) To make people participate in developmental administration.

From the following who will be responsible to “Integrated Rural Development
Programme” ?

(a) State Government (b) Central Government

(c) Local Bodies (d) Panchayat Samiti

Who wrote the book : “An essay on the principle of population” ?
(a) John Graunt (b) T.R. Malthus (¢c) M.N. Srinivas  (d) Karl Marx

According to census of India 2011, the most populous state is

(a) Maharashtra (b) Rajasthan (c) Bihar (d) Uttar Pradesh
Who wrote the book : “Peasant Movement in India” ?

(a) Radha Kamal Mukherjee (b) D.P. Mukherjee

(c) N.K.Bose (d) D.N. Dhanagare

Industrial relations cover the following area :

(a) Collective bargaining (b) Labour legislation

(c) Industrial relation training (d) All of these

Which one of the following statements about Sanskritization is correct ?
(a) Itisaprocess of structural change.

(b) It started with the advent of British Rule in India.

(c) Itis an exogenous source of change.

(d) Itisa process of positional change.

Which of the following is the cause of poverty in India ?

(a) Lack of Natural Resources (b) Natural Disasters

(c) Agricultural Backwardness (d) All of these

Factors responsible for uncontrolled population growth in India are

(a) Child marriage (b) Compulsion of marriage
(c) More importance of son (d) All of these

Who offers a six-fold classification of traditions in India to evaluate change ?
(a) Yogendra Singh (b) S.C.Dube

(c) G.S. Ghurye (d) D.P. Mukherjee

Which one of the following is not a characteristics of urbanism as described by Louis
Wirth ?

(a) Superficiality (b) Individualism (c¢) Dignity (d) Anonymity
Who have extensively studied “Chipko Movement” ?

(a) Ranjit Guha (b) Ramchandra Guha

(c) Medha Patekar (d) Rajendra Singh

. Who among the following evaluated the Community Development Programme ?

(@) A.R.Desai (b) S.C.Dube (¢) Oscar Lewis (d) All of these




167. TR TS 1 J&T eI R 8 7

() BfT3cTe H g

(b)  USHTR T G HEAT

(c) AT Sl TSI €9 & TReeh ST |

(d) T <! TorehTE HeTeh TeIEA § WRTER ST |
168. fF=ferfiga o @ “awf~ra urior ke SR’ o1 STieTca fhe T arm ?

(a) TS EHN (b) HE HHR

(c) T e -fer (d) Y=TId afufa
169. “TH THS 3T et 317% qTqers™” e g foheq foredft 8 7

(a) S TT0E (b) NI UEUE  (c) A e (d) Fred wr
170. 9T h1 SFRTOAT, 2011 % STTER Ta8 31k SHEEI aTel U9 8

(a) WENIg (b) ToEIH (c) feen (d) ST
171. “dSi= qemve 39 sfoean” qeae fohem foredt 2 2

(a) TURREA @St (b) L. g@sit (c) WA, &g (d) . g
172. 3ifies ga f=fefad &= ot sresiicd Har s :

(a) @HfEh HigsTS (b) 5 H

(c) 3TENfires qay gfyretor (d) TBaHt
173. HEhidetu & Heiy §, Frifeha ool § S Teh Tdl B ?

(a) I8 TLETCHS TR ohl ITshaT 2 |

(b)  SEERT YFY R H forfest s & 3TTHA o &1 g3 |

(c) g URed 1 afgaiid Jid 2 |
(d) ¥ feuferma aftada <h afsrn 2 |

174, Te=rferfad @ 9 F 9y 8 Mdaar shrsro g ?

(a)  ITeRfceh GHTEHT hi HHl (b) STeRe fod ot
(c) v b g (d) =@EA

175. 9RA ¥ AR SE Jig o o IR i &
(a) Tt foramg (b) Teramg i rfamiar
(c) YA WIfed ol 3Tf¥reh wE (d) Tgaft

176. 9T § U o Goaieh o foTT TaIaTi w1 6 Jehri § afiehtor fehem sreatferd fopam & 2

@ usfas (b)) . (c) Sh.wm. g (d) ol gl
177. 3@ 9o 6t Frrterar i foaemn § frfafea @ @ o seh fafiear 722 2

(a) EaaH (b) AfRaTg (c) TaTfmmM (d) TEATHAT
178. forea “Fadent 3Treio™” o saTdeh 31ewaq fpan g 7

(a) TSf TET (b) THTS & (c) T U (d) Tog Tz
179. 378 § fopa ATCTRIh faehtd hTeishy o1 Yoaieh fepa g ?

(a) THAR.GHEE (b) TE.H. g (c) JAtemdfem (4 e
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180.

181.

182.

183.

184.

185.

186.

187.

188.

Which of the following is not a key factor of the origin of sociology ?
(a) Political Revolution (b) Globalization
(c) The Enlightment (d) Industrial Revolution

Who is the author of the book ‘Sociological Imagination” ?
(a) M. Harris (b) W.A. Lewis (c) C.W.Mills (d) M. Ginsberg

Which of the following division of subject-matter of sociology is given by Durkheim ?
(a) Social morphology, social physiology and general sociology

(b)  Social statics, social dynamics and social reconstruction

(c) Social morphology, social control and social processes

(d) Social hentage, personality and social processes

“Sociology is a science which interprets social behaviour with the aim of arriving at a
causal explanation of human behaviour.” Who said this ?
(a) A.Comte (b) E. Durkheim (c) Max Weber (d) H. Spencer

Which of the following option is related to subject matter of sociology ?

(a) General and specific (b) Specialistic and synthetic

(c) General and special (d) Normal and special

Who defined “sociology is the study of human interactions and interrelations their
conditions and consequences.” ?

(a) R.M. Maclver and Page (b) Park and Burgess

(c) M. Ginsberg (d) H.M. Johnson

“Sociology is the Science of Institutions.” Whose idea is this ?

(a) Maclver (b) Bogardus (c) Durkheim (d) Sorokin

There are two statements marked as Assertion (A) and Reason (R) :

Assertion (A) : Sociology is the scientific study of society, its institutions and processes.
Reason (R) : Sociology is concerned with social interactions. Social groups and social
behaviour.

Select the correct answer from the codes given below :

Codes :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(¢) (A)istrue and (R) is false.

(d) (A)is false and (R) is true.

Match the List — I with List — IT and select the correct answer by using the codes given
below the lists :
List -1 List — 11

A. M. Ginsberg 1. The idea of progress
B. A. Ferguson ii.  Reason and unreason in society
C. R.Flint iii.  Essays on history of civil society
D. J.B.Bury iv.  History of the Philosophy of History
Codes :

A B C D
(a) i i i v
(b) i il v i
(c) 1ii i i v

d i iv i i




180. FfcTRad o ¥ i THTSIN o 3TH 1 TE P 18 & ?

(a) TSHITTe I (b)  HSHTRT (c) TSI I (d) Trenfires shifa
181. ‘TIRETATSThe SHNHYH TE&deh o ol@eh i & ?

(a) TH.gR& (b) TU AAf®@  (c) Hesey frem  (d) . Rmet
182. T=fetfia o & =i €t wwrsTemes s forwarareg =1 fawre gefn g feran e g 7

(a) TTHTISh TTEISIEA, ATHTISTS IR Td AT THTSTSIRA

(b) @TTRSTes fefaeht, TmmTfores miaefietar va g gAf-mio

(c) TR TSI, HHTTSTeh T ug amiisres gfshamd

(d) @I ferred, Sfthea Ta AR Sishamd
183. “THTSINNS Tsh T3 8, ST HTHTTeh SIGER oh1 ShI0T, THETHIUN, T1&T ITH i o 3238 § T

IR I ST AT & I8 Tohe e ?

(a) U HME (b) 3.g@Mm (c) Ted I (d) T T
184. T o @ 19 91 Torehed THISIITEA i fow-a%q & g2 g 7
(a) | 3R fafire (b) Tafyrs 3 TS
(c) TmRI IR formy (d) TTgror 3R fory
185. THISNTE “HHeE 31 {3ha13T Ud 31=d: a4, 3eh! TUEAT3TT Td IRUMTHT o 3194 27 I8
e ity fopam 2
(a) 3AR.UH. HehTger Td U (b) YT TH ToiH
(c) . Ngent (d) TE.TH. A
186. “HHTSISIEA HELT3TH <1 fost 7 I8 femwreht fomm @ 7
(a) PR (b) «wTEH (c) & (d) ERIfRT

187. = 31 A Ted T 8 Ueh i MU (A) T G 1 HRUT (R) FET TR :
HARHT (A) : THSIITE, GHTS Heh! TEATIA AAT AThATSTT T AT AL B |
HRU (R) : G GHITeh 3T RT3, AT el a1 HHTiveh Saar 8 Jreid ¢ |

%<

=l e T e | FEl 3T R = R

(a) (A) FAR (R) THI €& & 991 (R), (A) 1 T&l AT R |

(b) (A) 3R (R) <l @&l & fob (R), (A) b1 HEl AT T 2 |

© (A)TERIN(R) TR |

(d) (A)Td 8 3R (R) &7 |

188. F=-1 31 -1 o T GHTeTd Shifore qer =l fed T e & Hal I 1 I3 T -
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189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

The real nature of sociology is

(a) Normative science (b) Rational science
(c) Empirical science (d) Both (b) and (c)

Which perspective assumes that societies are in a constant state of change in which conflict
is a permanent feature ?

(a) Conflict perspective (b) Functional perspective

(c) Interactionist perspective (d) None of these

Durkheim, Hobhouse and Sorokin belong to which one of the school ?
(a) Normal school (b)  Special school
(c)  Synthetic school (d)  General school

Which match is incorrect ?

(a) Sociology of Knowledge — Karl Manheim
(b) Sociology of Religion — H.H. Gerth

(c) Industrial Sociology — Elton Mayo

(d) Rural Sociology — F.W. Taylor

“In the broadest sense sociology is the study of human interactions and interrelations their
conditions and consequences.” Who said this ?

(a) Johnson H.M. (b) Maclver and Page

(c) M. Ginsberg (d) L.F.Ward

The continent where sociology first developed is
(a) Australia (b) Europe (c) Asia (d) America

Who is associated with the term/word ‘Folkways’ ?
(a) L.F. Ward (b) W.G.Sumner (c) E.B.Tylor (d) Maclver and Page

Which one of the following is an example of secondary group ?
(a) Schools (b) Family (c) Village (d) Peer Groups

Who said “Cooperation crossed by conflict marks society” ?
(a) J.H.Fitcher (b) H.M.Johnson (c¢) K. Davis (d) Maclver and Page

Which concept can be related to the process of such development that not only protect the
present but also the future interest of society and maintenance a balance between
environment, economy and society ?

(a) Integrated Development (b) Balanced Development

(c) Sustainable Development (d) None of these

Who said, “Man is Social by Nature” ?

(a) Aristotle (b) Durkheim (c) Kautilya (d) M.K. Gandhi

Social control is exercised through

(a) Formal rules and regulations

(b) Informal rules and regulations

(c) Both formal and informal rules and regulations
(d) None of these




189. HHTSIITE i Aiaeh Yehid &

(a) 3TTexicHe fag (b) drfehen forsTH
(c) IAAWETH fozTH (d) gHI(b) T (c)
190. SHIF T IURTH I8 AT 2 Toh Tt R aftard= < fefa @ 2, frem word e wmrfi qur g 2
(a) HEY UMY (b) IRRIGTE 3UTTH
(c)  3r=a:foharrad) summ (d) 3TH @ 1 TR
191. gEfH, BieERE 3R ARifH, FH 5 4 fry wsh awiere & gfa & 7
(a) A THICH (b) T TmE™
(c) THATHS THCH (d) TR HEIEH
192, SHATTH AT B ?
(a) T T GHISRIRS — Hiet A8 (b) v 1 AU - U9, e, T

(c) 3T THTSRIE — Teed Bl (d) TTHIOT FHTSIEIES - Th. 8y, Tl
193. “SH9eh AT T USRI HHeT 37d: a3, 37eht 3rewean ud qRumdl &1 e 87 98
fra e ?
(a) THEATE.W. (b) BHRRTWEUT  (c) uH.fwent (d) TA.TH. Tq1E
194. 9% HRTEIY SI&T HHTSIRIG 1 e Hedl Tget gl o
(a) g (b)) T (c) uREm (d) iR
195. “Bichdsl g /3G o H1Y fohdeht AT ST 7 ?
(a) TA.UH. 9 (b) TS TR (c) 3.9 TAH (d) TPIFR I U
196. Fr=forfiad & & w s fedias oqg %1 3g=w & 7

(a) Taemer (b) URER (c) Td (d) fr=iwaE
197. “Had ¥ YR IqU g3 g & qUTSl el Sl & I8 fhe a1 g ?
(a) 9. PR (b) T ATEA  (c) . Sfod (d) BPERTI I

198. forepra sht et ufsharm St ATt & A haet I Sfesh TS & WiasT & fdi ol off gefera wardt 8
AT TR, 7T T U o HEA Her LAY il 2 | 38 ohe staemon & gafera fean

TMERATE ?
(a) Uehiehd faehd (b) wqferd foepmE
(c) Had ferhrE (d) T I HE T
199. fore a1 2 b “osa wawe @ wHTioes g1’ ?
(a) I|H (b) gEm™ (c) hifeca (d) wH.k. mef

200. ST F=I=0T ST T 21 & —
(a) o= el e i gra

(b) AU
(c) IT=TTEh AT AT GHI I Td T R
(d) 3T I HE TE
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